
1/4 

Volkswagen Crafter L5H3 2017 / MAN TGE - ACG / ALU 

2017 crafter L5H3—TGE 2017 ACG-ALU 

Indice 1-A - 14/12/2017 

2x 13  

                

 
A  

2017AG01Z 

B  

2017AG02Z 

C  

2017AG03Z 

D  

2017AG04Z 

E  

0A01AG101Z 

F  

TRCC M8x20 

G  

Ø8 M 

H  

TH M8x30 

I  

Ø8 DD 

J  

Ø8 LL 

K  

passe fil Ø8 

L  

écrou frein M8 

M 

TH M8x25 

N 

Cache 

écrou M8 

O 

2017ZG200 2x 2x 12x 2x 18x 36x 52x 18x 18x 36x 18x 62x 8x 16x 6x 

MAX MAX 

1 

        

2017LZP2000 
L5H3  200 kg   

46 kg 154 kg 
60’ 2017ZG200   

2017ZP2000G 70 kg 130 kg 

OU 

Ø9 



2/4 

2 

3 

D C C C B A H 

I 

J 

K 

J 

L 

x4 

2017xx2000G 

2017Lxx2000 

4 

M 
G 

L 

x4 x4 L5H3 

E 

F 

C C 

x3 x2 L5H3 x4 

C 

x1 



3/4 

5 8 

6 

9 10 11 

2017xx2000G 

2017Lxx2000 

7 

G 

L 

O 

N 

x2 




